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0 0) CFAT0=-150(0 O ) CFAT1-4=(90-60)x (1-33%) 19=39.1(
0 0) CFAT5=39.1550=94.1(0 0 ) NPV=-150 39.1x (P/AO 10%
01 4) 94.1% (p/s,10%,5) =-150 39.1x 3.1699 94.1x 0.6209 =32.37(
00)000 0O000=[120x (12x 8%)-8]+ 5=26.24(0 0) O



00000 0=25+ 5=5(0 0) CFAT0=-145(00 O ) CFAT1=0
CFAT2=-65(0 0 ) CFAT3-6=(170-80-26.24-5-120x 8%

x (1-33%) 26.24 5 120x 8%=73.78(0 0 ) CFAT7=73.78 65
8=146.78(0 0 ) NPV=-145-65x (P/SO 10%[] 2) 73.78x (P/A

[ 10%0 4) x (P/SO 10%0 2)) 146.78 x (P/SOI 10%[0 7) =-145-65
x 0.9264 73.78x 3.1699x 0.8264 146.78x 0.5132=69.9(0 0) O O
000000000 (@O0D0000000=32.37+ (P/A

0 10%05)=8540 0)0 000000 0 =69.9+ (P/AD 10%
07)=1436(00)000000000000000000
O0002(spider0 0)00000000000ID00000
00020000 000000500000000000 75000
000000000000000000000000 00
0000000000 0000 010000 5% 1004000 O
7%4000 000 8% 0000 0-500 O 10% 0 0500 O 12%
000075000 14%7500 000 16% 000000000
0000000000000000000000000200
00000000000000000000000000
0000000009l 000N00NN2000000000
000010000000000000000100000
000000034%0 000@O000000000000
00000000000000 @O00000000000
0000 @G)OD00000000 @)000000000 0
000000000020000000 @spider0 0000
0)()OODDO0O0000D0 (5%)=100+ 20%=500(0 0 )0 O
00000000 ((7%)=400+ 20%=2000(0 0) 000000
0000 (10%)=50+ 5%=1000(0 0)0 000000



0 (14%)=750+ 75%=1000( O ) O O O 0O O O (0-5000
[1)=20%x% 5% 5%x 10% 75%x 14%=12% (1 0 OJ O [

[1 (500100000 [0 )=20%x% 7% 5%x 10% 75%x 14%=12.4% [ O [
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0000020000 O 0O O )=20%x 8% 5%x 12% 75%

X 16%=142% QU0 U00O00000O000 O0O00=(200-1)
+ 10=19.9(00 O ) =[9021-19.9]x (134%) 19.9 =52.306(1 1) (3)J
0000 O00=-20052.306% (P AL 12%(01 10) 1x (P S
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